
Related Facts

1. Connect each calculation to the correct answer. Match each calculation to its 

related fact.

2. Complete A. Use your answers to complete B.

3. Wahid buys two sweets. What related fact will he need to work out how much the 

sweets cost altogether?

How much would they cost? Convince me.

8 – 2 = 8 90 – 50 =

3 0 + 4 0 =

8 0 – 5 0 =

6 0 + 2 0 =

9 0 – 5 0 =

6 0 – 4 0 =

3 + 4 =

8 – 5 =

6 + 2 =

9 – 5 =

6 – 4 =

A. B.

50

9 – 5 = 6 80 – 20 = 40

7 + 1 = 5 70 + 10 = 80

3 + 2 = 4 30 + 20 = 60

+ =60p 30p
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